18.2 Using Ksp in Calculations
Estimating Solubility

Which of the followingsalts - a) AgBr

Is the leastsolublein water? H b) Cu{OH)EJ
° " c) Cay(POy);
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18.2 Using Ksp in Calculations

Estimating Solubility

éeneral ” Ksp as a Function Solubility (x) aéla
Formula Examp!e Ksp Expression of Molar Solubility (x) Function of K5p
MY AgCl Ksp = [M7][Y-] Ksp = (X)(x) = x2 X= H,,p
MYz Hal Kep = MZIIY P Ksp = (X)(2x)% = 4x° x = Jh_:z

i 3 3 2 Hi-.p
MY Bil Ksp = IM**)Y] Ksp = (x)(3%)° = 27x° x={ s

27

MzY2 Fex(S04)a Ksp = IM>PY2 P Ksp = (20)%(3x)* = 108x° x =1 %&

dnslead of menoniung these singly use the TCE melhod.

Nofe tht wn the TCE Tobfe for sollalily e use 's' wstead of *x' sinply Becouse
by sohuing for 5, we hove detedrimed the sofubilfy wn wdk L .. M
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18.2 Using Ksp in Calculations
Predicting Whether a Solid Will Precipitate or Dissolve

ﬂaﬂm = “3+ + O
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